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& In What rate of simple interest per annum a sum

become = ; Of itselfin 4 years?
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5044/- in a time period of 9 months when the interest is
compounded quarterly?

32000 T ia a9 foher IT qX 9 W f AT | 5044 / - &1
STST QT ST AT (AT T IF (5 872 1) 20%

i At what rate per annum Rs 32000 will give an interest of

2) 25%
3) 30%
4) 10%
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L_ What will be the compound interest earned on an amount
of 12000 at 10 p.c.p.a. in two years?
I < 91 7 12000 F¥ TFAr 9T 10% Tfa a9 srfSia Tshafes =A™=

T T2

(1) 2400
(2) 2420
(3) 2500
(4) 2520
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What is compound interest accured on an amount

I of Rs. 45000 in two years at 9 p.c.p.a?
T T J 9% Ty a9 9 45000 =. F T =X T g i

STTST FIT BT

J-' Ty
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(1) 8600
2) 8565. 40

(23) Rs 8464
(4)Rs 8540 |
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) sum of money fetches Rs. 408 as compound
I interest at the rate of 4 p.c.p.a at the end of two
years. What is the sum ?

4 %Y T TIA 408 T ITH AT & ST 99 & T |
Thglg AT & &7 & qr THT 47 2

) B2 5000
00

(3) Rs 4000

2 ) NONEe C 1 C
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certain sum invested at 4% per annum at compound
I interest, compounded half- yearly amount to Rs 7803 at the
end of one year. The sum is- |

ua A afdr s fE s 1 4% it o & a2 & Fns W=l a9
% 3d H 7803 T ITH g 3N ATST -1 T T T AWT AT ?‘

$rforo

(1) Rs 7000/
2) Rs 720C

§3) Rs 750C
(4) Rs 7700/
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A sum of money becomes Rs 4500 after two years and Rs

SSC GD CONSTABLE 2023 - FOUNDATION BATCH |

6750 after 4 years compounded annually. The sum is-

< T | &9 4500 T 3T 4 917 § &« 6750 T g (1T 8l v |
JRT TFLr AT Hifsrwl

,.
(1) Rs 400(
(2) Rs 250 u
(3) Rs 300
4) K )H(
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A sum of money invested at compound interest doubled

itself in 6 years. At the same rate of interest. It will amount |
to eight times of itself in-

mwwmwmmmwﬁﬁW'@
AT IHY T LA AT AT F S AT WY Fhqy 7wt |

H g

(1) 15 years
(2) 12 years
(3) 18 years
@) 10 years
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The difference between simple and compound interests

on a sum of money at 4% per annum for 2 years is Rs 8
The sum s -

2 T o 1T 4% T aO it T F GTLTOT i< Ahg (g SATST
1= (AT 8 T g AV AT AT <

(1) Rs 400
(2) Rs 800}
(3) Rs
4000
(4) Rs
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At What rate percent compound interest does a sum of

money become IFI T TSI a?r = times itself in 2 years?

fre aTfie giaaa X ﬂﬁﬁvﬁﬂﬁﬁﬁa’oﬂﬂm 2 T 7 |
=Y FT9/4 ST ?

1) 20%
2) 30%
3) 40%
4) 50%

https://t.me/MathbySuryaveersir
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The difference between compound interest and simple
interest of a sum for 2 years at 8% is Rs. 768. The sum
IS-

2 U1 & forT 8% T AHg Ty SATST 3T ATHTIOT ST & S 1< H[
ST %, 768. TIT 8- av T 347 AT

1) Rs 100000
2) Rs 110000

3) Rs 120000]
4) Rs 170000
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—_In what time will Rs 72 becomes Rs 81 at 6 % per
. annum simple interest?
2

fre wwr § 72%, % 81 Y SITAT §1 SR AT X 6,% T
Y FTETIT TSI g7

1) 2 years|

2) 3 years
3) 2 years 6
months
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What sum of money must be given at simple Interest for |

six months at 4% per annum in order to earn Rs 150
Interest?

150 %. 7T LA o o FTETIor ST UL g Hav & 1T
4% g a9 ¥ 3T fahaar g« faar s =nige?

1) Rs 5000

2) Rs 75000
3) Rs 10000
4) Rs 15000
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The difference between the simple interest received from
two different sources on Rs 1500 for 3 years in 13.50.
The difference between their rates of interest is
HTLTIOT SATST & I a9 T =< 13.50 g 3 1500 .
Eﬁ-wmm@%a‘rmaﬁ%aﬁ?m AL AT

I

1) 0.1%
2) 0.2%
—3)0.3%
4) 0.4%

e
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A part of Rs 1500 was lent at 10% per annum and the
rest at 7% per annum, simple interest. The total interest
earned in three years was Rs 396. The sum lent at
10% was

1500 &9 §5 f2edT 10% i a9 X QW 7% ¥fa 9w,
FTLTIOT SATST T YT AT 1T 9T T T | Ao T

SITST 396 9 ATI dT 10% 9 T =27 17 89?

1) Rs 900
2) Rs 800
3) Rs 700
4) Rs 600

——— ——
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|. : - -:..., '
®/Manoj deposited Rs 29400 for 6 years at a simple interest. He got
Rs 4200 as interest after 6 years. The annual rate of interest was

. ;ﬁH%mWWWGW%ﬁQZMOOE@Wﬁm 3¢ 6
6 T 9T€ TS o €9 # 4200 =9 e arids sq1er &< ofi?

1)2--%

2)2 %
3)38%
4)48%
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The sum of money, at simple interest triples itself in 15
years. It will becomes 5 times of itself in '

HTLTIT SATST i I H Tl g7 &9 T fEAT T STar g 15
9T | ar 5 IET faha a9t § gHIT?

1) 40 years
2) 36 years

ﬁ) 30 years
years

https://t.me/MathbySuryaveersir



An amount of Rs 45000 becomes Rs 77400 on simple
interest in eight years. What is the rate of interest % p.a.? |
S AT | 45000 TIX T TTLT AT TS 9T 77400 0

gl STt g1 v Tfaay saTst << 497 g

1) 9
2) 11
3) 8
4)10.5
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Chirkut Borrowed a total amount of Rs 30000 a part of it on

. simple interest rate of 12% p.a. and remaining on simple interest
rate of 10% p.a. if at the end of 2 years he paid in all Rs 36480 to
settle the loan amount, what was the amount borrowed at 12%
p.a?
=ge 7 30000 ¥. &7 $= fgear 12 wiaera aramor sarer 9 3 Q9 10 |
TTALT FTETT ST Taay 9 foram &7 a9t & 3vq § 399 36480 &.
o ar 12 widera = fohaaT &= ferar a2

1) Rs 16000
2) Rs 18000
3) Rs 17500
4) Rs 12000
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If Rs 64 amounts to Rs 83.20 in 2 years, what will Rs 86
amount to in 4 years at the same rate percent per

annum?

i< 2 99t § 64 T9F ¥ 83.20 T g1 S(TAT § T T I AT |
T YT 4 U1 § 86 TIT FAT gIIT? |

1) Rs 132.50
2) Rs 135.60
3) Rs 137.60
4) Rs None of these
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